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VAV/YNT Gty plat] - LA gt (2 julond ¥ 2a00L) RalScl g i) - ol A 3Ll el bd) AL sl (il

If f:]1-1,4[ > R, f(x) =x3 —3x, then T ]t a8 13
M\J.LC«QP uﬂV—Lﬁ:(u-u)b
g3l > DN E 20

the number of the critical points for the
function f equals ..........

@zero @1 \@ J.w@
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If the curve ¥ = x3 + a x? + bx has an el 05713

Y Y
inflection point at (3, -9) ,thena+b=...... S
(ﬂ - < V) S UBJLOJ\ 2\.]4.3.’

...... =<+ P&&s
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The maximum value for the expression: - e b laad A3 ST
4x — x*where x ERis ... | IR

@4 @2 \'@ i@
© 3 @ o6 T O
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YAV/YNT Gl plad] - 3L gl (Al ¥ 220L) Jolily Juolait| - Zalad s 93101 Aty L] Balgas (il

4 Answer one of the following items 1 e G0 paal Sl e o
(a) Determine the maximum and the mini- Sl g salanl) ) s 1 (1)
mum local values for the function f Sz > A Al
such that: f(x) =x3 - 3x% — 9x, then o - V- () 0
determine the inflection point (if exists) o) DY Loz LIS a5
for the functionf . AN (das
(b) Find the absolute extrema values of the aallasll g gl o3 el (&)
function f such that: e 5 A1l
f(x) = 10xe™,x € [0,4] (6] 50 « T = ()3
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YAV/YNT Gty plad] - 3L gt (A1 43000) JolSitlg Juolad - Zalalt d il ual yof aLad| sl (loial

2 [sec* xtanxdx=..... | o =Sl
@ %sec5x+c @+w°\5% @
® isec4x+c ¢)+uf\g% @
© %tanx+c ¢’+u"\55% S)
@ —tanPx+c u+ufﬁé%— ®
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B . -Find the maximum area for the isosceles Sslue S dlie ST u o
triangle that could be drawn inscribed ina | Jsb 8,515 J515 acy (Kay 3L
circle whose radius equals 12 cm. Ve s plad oy
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Yo/ w!}.\]iruh ‘;JUJU}.\J‘ (Ao ¥ 2300) JalSil g Lolaid| - dalall 20 3L A pd | aLas| Balgds lwial

e ¥ o=
If f(x) = sin® x, then OB v = ()5 8 13
5 g
__nfz f(x)dx R A = 5 (w> J’\Y
2 o
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B rind the arca of the region bounded by the | o 85 seamall dlatdll domlis sl
two curves: y = x2,y = 4x . o E=0r T o k]!
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YAV/XNT ulydfalal] - AL jgul! (¥ 23000) ol g Jualiid) - aladh gLt Aol yud | aLad! Bl (Lol

9 Find the volume of the solid generated by | o ;—=W! V_'“?M > sl
revolving the region bounded by the two | o 85—l dalaidl Ol 9

curves : V=02 ¢ T 2 e
y = x?%,y = 2x a complete revolution AkalS 3y 93 Dlidl ) e J 5

about the x-axis .
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Answer one of the following items O (RO PV (FNCY PPN
()
(@) Find: f32+1 x S — \+U~V l»&()
w &
(b)  Find: f— dx 2R | 2=l ()
13
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YOAV/TNT gl padl plad | = AL Hgud (A o Y1 UL ) LolSCg Ll Aalad) s gALA ) a0 L Bl (oowial

8= eS8 13|
Ify = secx,then y” (-735) equals ..... o B= () >
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12 :

L2 Ifx =2t2+3,y = V&3 LTV = e oS s
() 0k o, -

then (d—y) equals ...... Yot v -~

dx/¢=1 )

......... $olus

© &
® ©
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Ify =xsinx, Jcﬁj U»L?-u,a:ua&\f\ﬁ
prove that : WY 2
- A

e Y O 3 g

a3y dy
X—=+x—+2y=
dx3+ dx y 0
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A rectangle of length 24 cm and width ) A2y e b Llatis
10 cm If its length shrinks at a rate of L a/rgv Jdaes Al sl
2 cm/sec .while its width increases at a S /)50 Jdas 42,0 Ll
rate of 1.5 cm/sec .find the rate of change 2e s ails 3 Juae Al
of its area at the end of 4 seconds ,After 2395 gV pa)l damsl SIS
how many seconds does the area stop A5 e ALl 4d
increasing?
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li 2%-1 v oy \
= equals...... | .. o\l —

®
©

;an 7_2-3—:,—@ AN O)

© in 2 @ 2 m3 AN O RS o
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16 V4N
- [4xeXdxequals......... | R
@ e*lyc TSN )
® 4e™4c e ©
@ % X+l 4 O % @
@ 2e* Jé +c s +\+Vu-m Y @
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In x?
rine3 & equals
1
@ xIn-+c¢
X
2
3inx

.........

(A ol ¥ 23001 ) Lol ol - Al i) B o e sk el
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O YN )\ & .
Ify = (x%+5)" find 2 (o4 )= o 28 3y
dx 28 .
W b A Jo-j\

oS
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